Answers

1) 63:3=[2] 63+3 =2 |
60+3=[20 ] 3+3=[1 |
88 + 4= 22 | T 0 28 +[4]=-[ 22 |
o0

o0 B +[4]=[ 20 1]([2]+[q]-[ 2 ]

54+[4]=[19 s6+[q]=[19 |

40+ 4-[1])(16+4=[ 4]

2) L9 ]-7-13 (48 |-3=16
70+[ 7 J=10)[[21 ]+7=3 [ [ 30 ]+3-10][18+[ 3 |-6

3) | 48 slices of pizza || 12 52 biscuits 13

16 sandwiches 4 92 grapes 23
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Answers

1) False. You must always start by dividing the digit in the tens column first. If you have any remaining tens,
they can be exchanged for ten ones and then can be divided along with the ones. For example,
65+5=13
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40 + 4 = 24 + 4 = III A is the odd one out because it represents the calculation

64 = 4 =16 not 68 = 4 = 17 like the other calculations.

3) Amélie has not exchanged the remaining ten for ten ones. The answer should be 16 not .

1) 24p 1= 3¢4p 24p = 4 = 2lp g4p =12 = 7p 24p + 23 = 3p @
g4p +2 = 42p g4p + 6 = 1gp 24p + 14 = 6p 24p + 2= 2p ——
Z4p =3 =238p B4p =7 =12p B4p = 21 = qp Z4p =84 =1p

2) There are many possible answers to this problem and the children may find other alternatives.
Here are some possible solutions:

22+4=63+9<70+] 64+8=72+9<S1+3 18+3=42+7<90+S  32+8=16+4<90+S
22+ 4=63+9<70<S 64+8=72+9<S0+) 18+3=62+7<90+6 32+8=16+4<0=S
22+ 4=63+9<S0+) 64+8=72+9<S3+) 18+3=42+7<60+S
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